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N1ARUIN 1

HA REGRESSION

—-—> RESET

~—> READ;file="C:\My Documents\data IS.xis";format=xls;names$

this is recerd 512. expect len=10, found 10
~~> REGRESS;Lhs=SALARY ;Rhs=ONE,SEX, AGE,ED ,EXP,SIZE1l, SIZE2S

e +
| Crdinary least squares regression Weighting wvariable = none |
| Dep. var. = SALARY Mean= 10298.78073 , 8.D.= 6837.036533 |
| Model size: Observations = 300, Parameters = 7, Deg.Fr.= 254 |
| Residuals: Sum of sqguares= 6508066727. , Std.Dev.= 4704.820098 |
| Fit: R-squared= .549201, Adjusted R-sguared = .54000 |
| Model test: F[ 6, 2941 = 59.70, Prob value = 00000 ¢
{ Diagnostic: Log-L = -2968.2248, Restricted(b=0) Log-L = -3088.8333 |
H LogAmemiyvaPrlrt.= 16.9236, Akaike Info. Crt.= 18.774 |
| Autocorrel: Durbin-Watson Statistic = 2.0822¢, Rho = .25887 |
e e ot e ———————— +
pmm e o Fmm o R Fom +
|[Variable | Coefficient | Standard Error |t-ratio |P[iTi{>tE] | Mean of X|
e S o e e e —————— Fm————— +
Constant 7498.842933 1756.1955 4.270 .0000

SEX -5015.441767 498.54590 -10.060  .0000 -2.7574751

AGE 61.81776818 57.293783 1.07%9 L2815 26.073090

ED 2170.410382 634.17267 3.422 .0007 -2.5681063

EXP 636.9417311 89.647342 7.105 .0000 —.34345515
SIZEL 232.7843488 591.5054¢0 .3%4 .6942 -3.0897010
SIZEZ2 1921.957434 670.05653 2.868 .0044 -3.1893688

—-—> RESET

-—> READ;file="C:\My Documents\data ISa.xls";format=xls; namas$

this is record 512. expect len=10, found 10
--> REGRESS;Lhs=SALARY ; Rhs=ONE, SEX, AGE, ED, EXP$

et T e T T — +
] Ordinary least squares regression Weighting variable = none |
i Dep. var. = SALARY Mean= 8203.891192 , S.D.= 4913.753089 |
| Model size: Observations = 182, Parameters = 5, Deg.Fr.= 188 |
| Residuals: Sum of sguares= 2420737124. , Std.Dev.= 3588.35077 |
| Fit: R-sguared= .477821, Adjusted R-sguared = 46671 |
| Model test: F[ 4, 188] = 43,01, Prob value = .00G00 |
| Diagnostic: Log~L = =1851.1136, Restricted(b=0) Log-L = ~-1913.8139 |
| LoghmemiyaPxrCrt.= 16.396, Akaike Info. Crt.= 19.234 |
| Autocorrel: Durbin-Watson Statistic = 1.98445, Rho = .00778 |
A e e ————— +
e it o e Fom e e Fomm e ittt fommm e +
|Variable | Ceefficient | Standard Error |t-ratio [P[IT!>t] | Mean of X|
Form = e o —— Fomm Fom e o +
Constant 4080.714824 1531.1206 2.665 0084

SEX —-3392.618043 378.711¢%6 -8.958 0000 -4.4611399

AGE 116.8477486 57.476220 2.033 .0435 23.124352

ED 2343.905533 433.65281 5.405 .0000 —-4.4818653

EXP 836.9338594 171.74124 5.455 L0000 -3.4247150



58

-=-> RESET

~-=> READ;file="C:\My Documents\data ISb.xls";format=xls;names$
this is record 512. expect len=10, found 10

—--> REGRESS ;Lhs=SALARY ;Rhs=CNE, SEX,AGE, ED, EXPS

e +
i Ordinary least sguares regressicen Weighting variable = none

{ Dep. var. = SALARY Mean= 11194.26415 , S.D.= 11221.61858 |
| Model size: Observations = 39, Parameters = 5, Deg.Fr.= 48 |
| Residuals: Sum of sqguares= 1819638521. . Std.Dev.= 6157.03954 |
| Fit: R-squared= .722111, Adjusted R-sguared = .69855 |
| Model test: F[ 4, 351 = 31.18, Prob value = 00000 |
| Diagnostic: Log-i = -535.0215, Restricted{b=0} Log-L = -568.9556 |
| : LogAmenivaPrCri.= 17.541, Bkaike Info. Crt.= 20.378 |
| Autocorrel: Durbin-Watson Statistic = 2.08431, Rha = . 04215 |
e +
e Fmm e fmm o —— F————————— e +
{variable | Coefficient | sStandard Brror |tf-ratio |P{IT{>t] | Mean of X|
e Form e Frmmm e — Fomm Fom e fm e ———— +
Constant 14713.16722 60985.3602 2.414 0196

SEX ~4056.868398 16%0.0388 =-2.400 .0D203 -263.71698

AGE 256.6207597 212.225069 1.208 L2325 -241.13208

ED 3001.939827 1711.47587 1.754 .0024 -263.24528

EXP 1327.278178 262.52188 5.056 L0000 -256.94340

-=> RESET

-=> READ;file="C:\My Documents\data ISc.xls";format=xls;names$
this is record 512. expect len=10, found 10
--> REGRESS :Lhs=SALARY ;Rhs=0ONE ,SEX, AGE,ED,EXP$

o e ———— +
| Ordinary least squares regression Weighting variable = none I
| Dep. war. = SALARY Mean= 11542 .42308 , S.D.= 8200.735183 i
| Mcodel size: Observations = 69, Parameters = 5, Deg.Fr.= 73 i
| Residuals: Sum of squares= 1863298085. ;, 3td.bev.= 5052.19074 |
| Fit: R-squared= .640179, Adjusted R-squared = .62046 |
| Model test: F[ 4, 651 = 32.47, Preb valiue = .00000 |
| Diagnostic: Log-L = -773.2445, Restricted(b=0} Log-L = ~813.1083 |
| LogAmemiyaPrCrt.= 17,117, Akaike Info. Crt.= 19.955 |
| Autocorrel: Durbin-Watson Statistic = 1.99254, Rho = .16373 |
e e e e +
Fom B e o Fom e Fo—— +
|Variable | Coefficient | Standard Brror |t-ratic |P[|T|>t} | Mean of X]
o e o —— frm—————— e e o S +
Constant 4074.672665 3110.5051 1.310 .1943

SEX ~4760.038414 969.66892 -4.309 .000C -114.98718

AGE 155.44603412 111.04340 1.400 .1658 -87.333333

ED 4173.45778¢6 377.1528% 4,271 0001 ~-114.52564

EXP 436.1884385 133.51378 3.267 -0017 -110.30013
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